
Multiply by 10 (I)Find each product.
3,642 × 10 = 5,0709 × 10 =
7,9056 × 10 = 6,462 × 10 =
0,884 × 10 = 4,5984 × 10 =
6,65 × 10 = 3,9 × 10 =
5,9 × 10 = 6,84 × 10 =
4,5 × 10 = 0,9 × 10 =
5,6824 × 10 = 1,86 × 10 =
8,29 × 10 = 5,011 × 10 =
9,809 × 10 = 3,29 × 10 =
8,3036 × 10 = 0,94 × 10 =
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Multiply by 10 (I) AnswersFind each product.
3,642 × 10 = 36,42 5,0709 × 10 = 50,709
7,9056 × 10 = 79,056 6,462 × 10 = 64,62
0,884 × 10 = 8,84 4,5984 × 10 = 45,984
6,65 × 10 = 66,5 3,9 × 10 = 39
5,9 × 10 = 59 6,84 × 10 = 68,4
4,5 × 10 = 45 0,9 × 10 = 9
5,6824 × 10 = 56,824 1,86 × 10 = 18,6
8,29 × 10 = 82,9 5,011 × 10 = 50,11
9,809 × 10 = 98,09 3,29 × 10 = 32,9
8,3036 × 10 = 83,036 0,94 × 10 = 9,4
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